— 10:07am by marie

Nov 17, 2021

Drawing Name: P:\Projects\2021\21063 Maplewood Pool\CAD\S—1_DETAILS & ISOMTERIC VIEWS.dwg Last Modified: Nov 17, 2021 — 10:07am Plotted on:

27 1/2" x 7 1/2"

NEW 5"x16 1/2" GLULAM

———————————————————————————————— <2
| S~
| S~
| >~
| >~
+ RN
/
/
/]
/
i
[
|
| _‘
|
ot PHOTO #1
\
NN S—2 DWG.
NN T——
. I -
NRNEN T ~N
N oK -~ —
A N\ -
NBN/ / -~
\\\l N S \\\\_\
N N LM / T —
7
TIANNN Vs
I \ /
I N ) v
| AN 7
|| AN )
| N y
| N 4
\ / —
I N — -
I g
I \\\ / —_
| N / —— -~
| N / —
| \ / — -
| N p: -1 -
| S
| —‘ ‘l\(q
| |
== —_ I/
A R=Z4= A S—1
FINEN | ——__ |
| \\\\| T~ |
€ ox2 [ —— w
NN \ =<
NN N et
SNH “ ‘/ T ==
I | | ———
N A , ——
\\j N | ~——__
N \ ~—_
I N \ -~
| \ | —
II \\ I
I ) }
| N |
| \ |
| \
\ |
| \ |
\
| N |
2 \
| \ |
| AN | g
7 | \ | -
| A\ \W‘ —— -
|| \\\ I "
| . ‘\ -
I —_
| NN =~
== l YN~
N | |
\\\\\ || I ‘ }‘ ] <!
\\*\A ——__" ‘b
AN T
NI =1
\\\\\1:\\ \| T‘{ T\\\\\\
\\| \\ \\\\\\
} AN T
AN 7N~

1R

\ e
\___PHOTO #2 V1

ISOMETRIC VIEW-—1

SCALE: 1/4"=1"-Q"

NEW 5"x16 1/2" GLULAM

EXIST. CABLE REMAIN

/23 1/2" x 7 1/2”

! NEW 27 1/2" x 7 1/2"
', TYP.

! NEW 27 1/2" x 7 1/2"

| TYP.
. N\
l'l =V}

. LoL S/ios

/

/

/

/

/

/

\ /

W

Tl
o\

'y

=\

\
\
\
\
\ 4
=2

\
\ VT

— :

' 27 1/2" x 7 1/2"

BOTTOM OF
PLATFORM
EL. 9-4" —]

EXIST. CABLE REMAIN

ALL EXISTING PAINT ON EXISTING ARCH & "L" MEMBERS
TO BE REMOVED & REPAINT W/ HIGH QUALITY LATEX
PAINT. COLOR TO BE DETERMINED BY THE OWNER.

EXIST. ARCH. FRAMING
REMAIN

EXIST. DIVING PLATFORM
TO BE REMOVED AND
REBUILT SEE TYPICAL NEW
PLATFORM FRAMING

BOTTOM OF
PLATFORM
EL. 20-8" A

BOTTOM OF
PLATFORM
EL. 9-4"

EXIST. GLULAM TO BE REMOVED.
REPLACED W/ NEW 5 1/2" x 16 1/2"
GLULAM

EXIST. LADDER TO BE

REMOVED & REUSED

N~

—z

EXISTING DIVING PLATFORM STAND

o P
= S WL S
f‘ 2N
AN X
13

PHOTO #1

PHOTO #2

EXISTING CONDITION PHOTOS

EXIST. GLULAM TO BE
REPLACED W/ 5 1/2" x 16 1/2"
GLULAM

BASE EXIST. LADDER TO BE
REPAIR BY EPOXY RESIN

EXIST. "L" FRAMING REMAIN

'\

ISOMETRIC VIEW-2

SCALE: 1/4"=1'-0"

2-|AG SCREWS
PER PLANK

4x6 PLANK W/
1/8" GAP IN BETWN.

1/4” BENT PLATE
GALV.

|- 5"x13" GLULAM

o~ | 1/2°¢ LAG SCREW
% TYP.
g
\
O ——
<2" S e

\ NEW 5°x16 1/2" GLULAM

TYPICAL PLATFORM

5::X81’ GLULAM \

g

TAPER MEMBER SIZE
AS EXIST. DEPTH
TAPER MEMBER SIZE
AS EXIST. DEPTH

4x6 WOOD PLANK
(3 1/2°x5 1/2)%

%o
W/ 1/8" GAP IN -
BETWN. -
r
| <<
|
] '
57%13" GLULAM | -
BEAM | |
| |
o}
f I i, |
EXIST. RAILING
70 BE REUSE 6'—0"
(TYPICAL)

TYPICAL NEW PLATFORM

EXIST. GLULAM
DELAMINATION TO BE
REPAIRED W/ INJECTED
N %/%7,5 7;%2/5@ EPOXY RESIN CONNECT'ON DETA“. FRAM'NQ
L6x6x1/2 EACH SIDE SCALE: 1"=1"-0" SCALE: 1/4"=1"-0Q"
OF MEMBER, GALV. W/
2-LAG SCREWS EXIST. GLULAM 2- 3/4'0 THRU BOLTS EXIST. BOLTS TO BE
PER PLANK L” ARCH FRAME \(A?AASLF\i/[.E)RW/ OVER SIZE REMOVED & REPLACED
W/ SAME SIZE BOLT/OR
LAG SCREW
i 4X6 PLANK W/
1/8” GAP IN BETWN.
EXIST. STEEL PLATE COVER
IllIIllIIllIIllIIllIIlIIIllIIllIIllIIllIIllIIllIIII-E 2
. /| o ©o &
3
d MG .
[EE 2t 8] || )
3-5/8"¢ LAG SCREW W/ a— 3-3/4"¢ THRU BOLTS B ; 1/4"¢ THRU BOLTS S S
5" EMBEDMENT C—— — RAILING ANCHORS ., ) O No. DATE DESCRIPTION BY
L— NEW 5 1/2"x16 1/2 ROJECT
— GLULAM
:'\ EXIST. GLULAM EXPOSE EXISTING STEEL PLATE
o ' CONDITION, MIN. 8" DEEP,
EXIST. 7 1/2%27 1/2” GLULAM EXIST. 7 1/2%23 1/2” GLULAM S'x13" GLULAM gg&,ﬁmgéﬂw lT,\%E%ETED NOTIFY ENGINEER FOR SWIMMING POOI— DIVING BOARD
COL. TO REMAIN COL. TO REMAIN PROVIDE TEMP. SHORING EPOXY RESIN OBSERVATION ANY REPAIR, MAPLEWOOD, NJ 10021
PRIOR TO REMOVAL OF IF REQUIRED.
EXIST. GLULAM
SHEET TITLE
T \soue rero 2\ soug r-ro 3 \soue r=reg 4 \sour v O\ seE: =1’ ISOMETRIC VIEWS AND DETAILS
S_ 1 S_ 1 S_ 1 S_ 1 S_ 1 M. JEFF LING N.J.P.E. # 31744
.4 SCALE DATE DRAWING NUMBER
g JINC. [ AS SHOWN 09/01/2021
3| CONSULTING ENGINEERS COLLABORATIVE, INC. DRAWN BY CHECKED BY 8_1
o| 730 BOULEVARD KENILWORTH, NJ 07033
& |_PHONE: 908—298—1600 FAX: 908—298—0702 ML JL




